
Unit 1

Number 1

Birds do it. Bees do it.
→
_____________________________________________________________________________________

Even blue-green bacteria do it―tell time thanks to a biological clock that helps trigger migration, pollination, and all the things bacteria do.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

What's even more surprising is that your body follows the clock, too.
→
_____________________________________________________________________________________

Your ability to get a good night's sleep, your blood pressure, and your stamina during exercise―just about every biological process sticks to some kind of daily or seasonal rhythm.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

What that means is you can improve your health with barely any effort if you know how to use the power of your body's daily, weekly, and seasonal cycles.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

For instance, have a cavity filled in the afternoon, because the pain-killing effect of dental anaesthesia lasts longer in the afternoon than it does in the morning.
→
_____________________________________________________________________________________

_____________________________________________________________________________________


Number 2

We've all met people who limit their lives in the narrowest possible terms.
→
_____________________________________________________________________________________

They are determined to stay in a limited comfort zone.
→
_____________________________________________________________________________________

Some people avoid the opportunity to make a public presentation because it makes them nervous.
→
_____________________________________________________________________________________

Others reject a chance to study abroad because they don't consider themselves adventurous.
→
_____________________________________________________________________________________

People become trapped by their own conception of their limits, so they become angry at even being a sked to step beyond them.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

This attitude toward life, however, is a huge mistake.
→
_____________________________________________________________________________________

Welcome new challenges at every turn, saying yes as often as possible.
→
_____________________________________________________________________________________


Number 3

Information is retrieved from memory when the current situation matches the situation in which that information was learned.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

The key word here is situation, which psychologists also call context.
→
_____________________________________________________________________________________

When you learn new information it becomes associated with the context in which you are learning―sights, sounds, tastes, smells, feelings, and even thoughts that were present at the time.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

Since your memory is built on the principle that knowledge is likely to be important when the same situation occurs again, your memory wants to give you the information that is most likely to be helpful for you.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

Our memory is designed so that when you walk into any fast food restaurant, you are reminded of other visits to the restaurant so that you can use your knowledge about those past visits to help you understand what you need to do to get a meal.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________


Number 4

Scottish economist Adam Smith saw competitiveness as maximizing self-interest.
→
_____________________________________________________________________________________

However, today the most 'competitive people' are replacing his philosophy with the thinking of the mathematician, John Nash.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

He proved mathematically the theory of Swiss philosopher Jean- Jacques Rousseau; when parties collaborate, the overall size of benefit almost always expands, so each party gets more than it could get alone.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

The typical example is that four hunters can catch only one rabbit each while acting alone, but they can catch a deer together.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

Today, smart competitors collaborate whenever they can.
→
_____________________________________________________________________________________

Research shows that almost 90 percent of the time, people in cooperative environments perform better than people in traditional, 'competitive,' win-lose environments.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

In other words, collaboration produces better results.
→
_____________________________________________________________________________________


Number 5

Imagine tossing a coin over and over, and let's say that the coin has landed heads up six times in a row.
→
_____________________________________________________________________________________

Many people believe that in this situation the coin is more likely to come up tails than heads on the next toss.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

But this conclusion is wrong, and this belief is commonly referred to as the "gambler's fallacy." 
→
_____________________________________________________________________________________

The logic leading to this fallacy seems to be that if the coin is fair, then a series of tosses should contain equal numbers of heads and tails.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

If no tails have appeared for a while, then some are overdue to bring about this balance.
→
_____________________________________________________________________________________

But how could this be?
→
_____________________________________________________________________________________

The coin has no memory, so it has no way of knowing how long it has been since the last tails.
→
_____________________________________________________________________________________

More generally, there simply is no mechanism through which the history of the previous tosses could influence the current one.
→
_____________________________________________________________________________________

_____________________________________________________________________________________




Therefore, the likelihood of a tail on toss number 7 is 50-50, just as it was on the first toss, and just as it is one very toss.
→
_____________________________________________________________________________________

_____________________________________________________________________________________


Number 6

Al-Khwarizmi was a mathematician, astronomer, and geographer.
→
_____________________________________________________________________________________

Born in Persia, he eventually found a place at the renowned House of Wisdom in Baghdad-the greatest center of learning in Islam's golden age.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

While there, Al-Khwarizmi wrote a book explaining Hindu concepts in mathematics, including the symbols used in India for counting.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

The book was translated from Arabic into Latin, three hundred years after his death.
→
_____________________________________________________________________________________

The translated text helped introduce to Europeans a radical new way to count and do math―using what are now called Arabic numerals: 1, 2, 3, 4, 5, 6, 7, 8, 9, and 0.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

These were much easier to use than Roman numerals, especially for division and multiplication.
→
_____________________________________________________________________________________

They eventually came to be used throughout the world.
→
_____________________________________________________________________________________


Number 7

In Philadelphia, planners have been experimenting with a new way of slowing drivers down: painted 3-D triangles that look like speed bumps.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

At one quarter of the cost of physical bumps, the devices also have the advantage of not tearing up emergency vehicle axles as they speed over them.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

A month of investigation on a half-mile stretch of road found that driver speeds fell from an average of 38 miles per hour to 23 miles per hour.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

While this drop is impressive, the effect may be temporary as drivers, particularly those who regularly travel that route, learn which bumps are just illusions.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

Still, slowing down the tourists might provide enough benefit to be worth the cost.
→
_____________________________________________________________________________________



Number 8

Americans are increasingly aware of the dangers of noise, but we are less aware of the way it further handicaps those who already have hearing loss.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

If you have a hearing aid, the world is, paradoxically, far noisier than it is for a person with normal hearing.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

For example, in a noisy restaurant, a person with normal hearing will still be able to hear his companion.
→
_____________________________________________________________________________________

But in that same environment, a hearing-impaired person will hear chairs scraping, dishes clanking, waiters shouting, all of it bouncing off the high ceilings, the bare walls, the metallic tables and chairs―an anxiety―provoking wall of noise.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

Thus, we need to make things a bit smaller for everyone, especially for hearing impaired people.
→
_____________________________________________________________________________________

Webster's defines noise as sound "that lacks agreeable musical quality or is noticeably unpleasant."
→
_____________________________________________________________________________________

That's a subjective definition.
→
_____________________________________________________________________________________

What's music to your ears is almost always noise to others.
→
_____________________________________________________________________________________


Number 9

Sometimes children may want to do more than they are capable of doing.
→
_____________________________________________________________________________________

For example, the five-year-old-son of a friend of ours went on a hike with his father.
→
_____________________________________________________________________________________

At one point the boy asked his father to let him carry a heavy backpack the way the "big people" do.
→
_____________________________________________________________________________________

Without saying a word, the father took his backpack off and handed it to his son, who immediately discovered that it was too heavy for him to carry.
→
_____________________________________________________________________________________

_____________________________________________________________________________________

The boy simply exclaimed, "Dad, it's too heavy for me." 
→
_____________________________________________________________________________________

He then went happily on his way up the trail.
→
_____________________________________________________________________________________

In a safe way the father had allowed his son to discover experientially that he was, indeed, too small.
→
_____________________________________________________________________________________

He had also avoided a potential argument with his son.
→
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